I sat and watched every play in this video. (There were not 402 because the first Green Bay was missing!) 

I documented each type of throw by where Teddy distributed the ball. 
I labeled each type of throw as follows: 
  First letter: P = Pocket, R = Roll
  Second letter: R = Right, L = Left, M = Middle 
     *For simplicity I used Field Numbers to the respective sideline (R & L), and in between Numbers are (M)
  Third letter: (h) = Hurried (Again, for simplicity, any actual pressured throw was a hurry)

IE:  R R(h) means Teddy Rolled Right while ‘hurried’ or pressure, not by play design. 
(Obviously, I am using best judgment of what I saw on the play)
-----------------------------------------------------------------------
Second Column is Completion (Comp), Incomplete (Inc), or Interception (INT)
Other letters are as follows for accuracy of throw:
    (hit) = If Teddy was hit while throwing, Tip = Tipped ball, (d) = Defender prevented pass
    (h) = Ball thrown High, (L) = Ball thrown Low, (u) = Under-thrown, (B) Thrown Behind
    TA = Thrown Away (I tried to make these the obvious ones)
-------------------------------------------------------------------------
Third Column is how long the pass was:
   -S = Behind line of scrimmage, S = Short (0-10yds), M = Medium (11-20yds), L = Long (21+ yds)
   Teddy doesn’t have a huge arm, so I thought these distances were a fair indicator to his style.

Next number was simply the player number.
And the last parenthesis was as follows:
    Drop = Dropped ball (easy catch)
    in/out = In and Out of Receivers hands
    Fell = Receiver fell down on play
    Loss = Loss of yardage on play
    (S), (M) and (L) (as referenced above) were simply the Yards After Catch on “–S” passes (for posterity)
    (TD) = Touchdown, 
     2pt = 2 point Conversion
    Shuffle = Shuffle pass

IE: -S 31 (M) = A pass behind scrimmage (-S) by McKinnon (31) for 11-20 yards after catch. (M)
[bookmark: _GoBack]    Most of the yardage related letters are for “-S” plays only.

The total throws break down like this:
P R = 101, 7 hurries,   3 INT
P M = 155, 20 hurries,  4 INT
P L = 108,  22 hurries,  4 INT
R R = 24,  11 hurries,   2 INT
R L =  6,      3 hurries,  0 INT

2 INT were from Hurries, (PL-12 & RR(tip) )
1 INT was an over throw (PL-84)
3 INT were tips  (2 PM, RR(h))
2 INT were In/Out  (PM -44, PL-23)
1 INT was a Hail Mary (RR)

Completions      = 261
Incompletions = 121
Interceptions     = 13
Teddy was/had:
  Hit 7 times throwing 
  12 tipped balls
  16 High throws, 
    7 Low Throws
  18 Over Thrown
    6 Under Thrown
    2 Behind Throws
  17 Throw-Aways
    2 In and Outs
  13 Dropped Balls
    5 Receivers fell
  61 Hurries

Player Completions (not targets):
52 – 12 Johnson 	(3) –S, (23) S, (17) M, (8) L
63 – 15 Jennings	(2) –S, (51) S, (17) M, (8) L  
42 – 17 Wright    (10)–S, (14) s, (14) M, (3) L
  4 – 19 Thielen	(0) –S, (3) S, (0) M, (1) L
  9 – 23 Banyard	(2) –S, (7) S, (0) M, (0) L
32 – 31 McKinnon(13) –S, (18) S, (1) M, (0) L
  1 – 42 Felton 	(0) -S, (1) S, (0) M, (0) L
47 – 44 Asiata	(16) –S, (29) S, (2) M, (0) L
19 – 82 Rudolph	(1) –S, (14) S, (3) M, (1) L
38 – 84 Patterson(2) –S, (22) S, (8) M, (6) L
23 – 85 Ellison	(2) –S, (19) S, (1) M, (1) L
24 – 86 Ford	(0) –S, (17( S, (7) M, (0) L


